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RE7A+ MZEHE 01

REVWEAENIVEBBHS. AL BrRDE. (SH30F, Afhs50%, Bik15320%, CHk25)

At BONIDS, #2531 (2) AL BOMD15, #2533

At BDOWNIHI83, 7D 19 (4) AL BDHID 2400, 7253300

© Bef - BEE L &7 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

(1)

(3)

REVHALENSOEBYSHS. AL BERDL. (SH30F, Afk50%, Bfk173208, C#k25)

AL BOHIDG6, #2034 (2) AL BOMDIT, 2035

AL BORIMTT, #5539 (4) A& BDOHIH 3200, 253500
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RETFAN MMER 01 EBEES

REVWEAENIVEBBHS. AL BrRDE. (SH30F, Afhs50%, Bik15320%, CHk25)

* fIE&
KEWHFOE = (M + &) + 2
INEWHDE = (fl — &) + 2

[y

oI, K BEEOMEILOETLEN) ZEHEETH .

(1) AL BORDS5, #0351 (2) AL BORDI15, 2033
A — A o —
'-.,1_.-’ > ﬂ] 5 ..‘15"’ > %D 3
B B
A=0HB+1)+2=3 -&ZX A=(15+3)+2=9 -&EZX
B=(-1)+2=2 -<&Z B=(15-3)+2=6 -&ZX
SlifED & PA RS
M3+2=5 #3-2=1 MI9+6=15  #29-6=3
(3) AL BOMIDI83, #1319 (4) A& BDRID2400, #5300
A —A A —
=19~ ) 83 300" >$n 2400
B B
A=(83+19)+2=51 -&ZX A = (2400 + 300) ~2 = 1350 --&FZ
B=(83-19)+2=32 -&X B = (2400 — 300) + 2 = 1050 BZ
PACHARED) PACHRIRES)

1 51+ 32 =83 751 —-32=19 Al 135041050 = 2400 7% 1350 — 1050 = 300
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2.

REVHALENSOEBYSHS. AL BERDL. (SH30F, Afk50%, Bfk173208, C#k25)
(1) A& BOHIDG6, #2034

(2) A& BOWH1IT, #2035

A=(6+4)+2=5 -&ZX A=(17+5)+2=11 -&ZX
B=(6-4)+2=1 -&X B=(17-5)+2=6 -&X
VAQ T RND) Sehite &

Mb5+1=6 Z5—1=4 M11+6=17 Z11-6=5

(3) A& BOMMTI, 25339 (4) A& BDHIH3200, 72253500
A= (T7+39)+2=58 -&Z A = (3200 4+ 500) =2 = 1850 -&EZX
B=(77-39)+2=19 -&ZX B = (3200 — 500) +~2 = 1350 -&ZX
DAQ NS VAL (IS
58 +19="77 7% 58 — 19 = 39

Al 185041350 = 3200 7% 1850 — 1350 = 500
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